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Subtraction sentences 

Grade 1 Subtraction Worksheet  

How many more boxes do we need so every bee has a box?  

Circle the correct equation and write the answer. 

4 - 2 = __ 4 + 4 = __ 8 - 3 = __ 8 - 4 = __ 

8 + 5 = __ 8 - 5 = __ 5 - 8 = __ 5 + 8 = __ 

8 + 2 = __ 8 - 6 = __ 8 - 2 = __ 8 + 8 = __ 

6 + 2 = __ 6 - 2 = __ 8 - 6 = __ 8 - 2 = __ 
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4 - 2 = __ 4 + 4 = __ 8 - 3 = __ 8 - 4 = 4 

8 + 5 = __ 8 - 5 = 3 5 - 8 = __ 5 + 8 = __ 

8 + 2 = __ 8 - 6 = __ 8 - 2 = 6 8 + 8 = __ 

6 + 2 = __ 6 - 2 = __ 8 - 6 = 2 8 - 2 = __ 
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